OBELBIHERUVBHEONRILFMERIRFHER

BE - BEISERIDOKE (LAR)
% 1 - 2 %B {‘ z \ é%*ﬁ
(1 /14R=2)
stgimE REBEFL) L2 () BRI () HHHIR (ka/ 5 414978 idng-TEQ/ ) BIE Ko/ T v
-1
B K& Ejj%
T Tk AE
g ME £ gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e
5 w | B
1| FERD KBS 66 7 87 1 66 0 0 67 7 0 7 16 9655 0 0 9671 20682 0 20682 30353
odl7oyL7s R 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 0 45 0 45 45
475 Y LBROZDKEME al 2 5| 4l of of of 4] 2f o 2 68 0 0 0 68| 54001 of 54001 54069
6|72 U LEE2 —E ROFLTFIL 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
NF7o L L<i—TFIL 4 3 4 4 0 0 0 4 3 0 3 668 0 0 0 668 166 0 166 834
8|72 U ILEE X FIL 1 0 1 1 0 0 0 1 0 0 0 200 0 0 0 200 0 0 0 200
g7z vyo=rYJL 6 3 6 6 0 0 0 6 3 0 3 6741 0 0 0 6741 24409 0 24409 31150
wrosaoLqdy 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1100 0 1100 1100
7o+ U ™S A 0 i 1 0 0 0 0 0 1 0 1 0 0 0 0 o] 8400 o] 8400 8400
2l7& r7zEe R 4 1 4 4 2 0 0 6 1 0 1 3722 20630 0 o| 24352 43 0 a3 24395
BlF7Er=MY )L 6 9 12 5 2 0 0 7 9 0 9 1619 91 0 0 1710 426680 0 426680 428390
6[2, 2' —FJERAYTFO= UL 0 1 4 0 0 0 0 0 1 0 1 0 0 0 0 0 8 0 8 8
18l7=1 v 2 3 5 2 1 0 0 3 3 0 3 636 34 0 0 670 23669 0 23669 24339
2002—73)xTH9)—)L 3 3 6 1 2 0 0 3 3 0 3 0 2403 0 0 2403 267518 0 267518 269921
8|7y LTI a—) 1 0 2 1 0 0 0 1 0 0 0 4 0 0 0 4 0 0 0 4
30| EEHT) [,:\:)[,/\“y-gy;()[{,j:ygg& TCFD 2 2 5 0 2 0 0 2 2 1 3 0 1200 0 0 1200 1801 0 1802 3002
B (TILFILEQRFEN 1 00514 &
TREDRVZDEGYICRS, )
N7 UVFEVRUVCFDIEEY 1 7 9 0 1 0 0 1 7 0 7 0 460 0 0 460 2339 0 2339 2799
RIT7VNTEY 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 0 360 0 360 360
B /L 0 4 4 0 0 0 0 0 4 0 4 0 0 0 0 0 46000 0 46000 46000
Uz3—qveFFrxFIL—3, 5, 5—h 0 2 4 0 0 0 0 0 2 0 2 0 0 0 0 0 640 0 640 640
YXFILSIONEIL=AYSTE—b
AV TLY 1 0 2 1 0 0 0 1 0 0 0 3 0 0 0 3 0 0 0 3
374, 4’ —qvyTOrYTY T /)—)L 0 2 4 0 0 0 0 0 2 0 2 0 0 0 0 0 1060 0 1060 1060
(RlEERT7T/—IA)
HHEE : fSH03FE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - BEVERIDEET (uOg)
x1 -2 #HEFRR - £%7E
(2 / 14R=2)
sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
it
B | T Tk o
7] 0&
g ME £ gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e
5 w | @ o
82, 27 — (v FOrYFrER [ (2 0 1 1 0 0 0 0 0 1 1 0 0 0 12 0 12 12
Te-yTynE=A, 1-7T=Lv) #
X211} T8 /—)
M3 —qyFORFL—2—-rY 7040 0 0 1 0 0 0 0 of o 0 0 0 0 0 0 0 0
?%w&yX7:UF(%%7wh5:w
R2—AZFIVIVvFAY 1 0 1 1 0 0 0 1 0 0 20 0 20 0 0 0 20
1l oy AROZDIEEY 0 1 1 0 0 0 0 0 1 1 0 0 0 110 0 110 110
Sb\THYFA—IL 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
swlrFr=2—-[4- (6—4OO—2—=% 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
JEYYIAXY) 7/ %] TOE
ZFr—h RS ORy TTFI)
slo—TFL=0-4—-=rOrz=)L=7 11 ol 70 of 0 of n 0 0 0 25 25 0 0 0 25
IZWHKRRAR/FAT—b (BIBHEPN)
MIN— (1 —TF)LFOEL) —2, 6-3 0 1 1 0 0 0 0 0 1 1 0 0 0 0 0 0 0
—hO-3, 4-%YUYY (BERYT
AX5Y)
50[S—TFI=~AFxHERO—1H—FEF 0 1 1 0 0 0 0 0 1 2 0 0 0 2 0 2 2
i;1—t»ﬁ%#7—h(%%%u*—
B1{2 —ZTF I H UER 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BlZTFILRVEY 193 38 203 193 2 0 0 195 38 38 325721 1070 326791 97989 0 97989 424780
sBlTFLvAES R R E 0 0 0 3l o 0 477 0 477 0 0 0 4717
HlTFLYSTIY 4 1 4 3 2 0 0 5 1 1 3013[ 13300 16313 33 0 33| 16346
BO|TFLYUT I B 0 2 2 0 0 0 0 0 1 2 0 0 0 460 22 482 482
642 — (4—ThRFLTToJL) —2—XF 0 1 1 0 0 0 0 0 1 1 0 0 0 87 0 87 87
LVTOEL=3-Tx/FIRVI)IT—
T GBI ZzvTAvIR)
ol oake RY v 2 4 5 2 0 0 0 2 4 4 1407 0 1407 183000 0 183000 184407
68[1, 2—TR*¥> 7Oy (LR TO o[ 1] 2l 2l o] o] of 2] s 1| 6830 0 6830 2000 of  2000] 8830
ELy)
HEHHFE : fF03FERE




OBELBIHERUVBHEONRILFMERIRFHER

e - BENSERIDEE (lLOR)
% 1 - 2 %B {‘ /\ é%*ﬁ
(3 / 14R—%)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
Beth -
B K& Eij%
T K =K
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
s w | & B
6912, 3—TRF>IOEIL=T7z=)lT— 0 1 2 0 0 0 0 1 0 1 0 0 0 2100 0 2100 2100
T
ML E =8 0 1 9 0 0 0 0 1 0 1 0 0 0 2500 0 2500 2500
BIN—=—F09%/)—IL 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
WS —FF T/ —I 0 2 2 0 0 0 0 2 0 2 0 0 0 343 0 343 343
75|10 K39 ARVZDIEESY 6 3l s 2 5 0 0 3 0 3 9 7 16| 30000 o] so000[ 30016
Bl Foavy—HAH7Aa5949 A 4 5 5 2 2 0 0 5 0 5 54 67700 67754 700542 0 700542 768296
8|2, 4—% L —) 1 1 1 1 0 0 0 1 0 1 20 0 20 190 0 190 210
) B 204 50| 307 294 4 0 0 50 of 50| 537252 4158 541410 278259 o| 278259] 819669
81|l&% /1) v 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
82|8R R O 7 DACAMEAL S 1 1 1 0 1 0 0 1 0 1 0 77 77 190 0 190 267
83| XV 7 3 9 7 0 0 0 3 0 3 842 0 842 6353 0 6353 7195
84l y A xH4— 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0
5[ o7 ILFE R 0 1 1 0 0 0 0 0 1 1 0 0 0 0 30 30 30
86|l LY—)L 4 2 6 3 2 0 0 2 0 2 197 1720 1917 91580 0 91580 93497
87l o LRSI O LEEY 17] 14| e8 5| 14 0 0 14 ol 14 415 219 634| 3880480 o| 38s0480 3881114
88|75 O b &1 13 3 77 4 1" 0 0 3 0 3 13 15 28 8120 0 8120 8148
89lrom7=y> 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
92— (4—/OO—6—-—IFILF7I/)—1 0 1 1 0 0 0 0 1 1 2 0 0 0 13 3 16 16
, 3, B=NUTYY—=2—4)) I/
—2—AFLTOEF/=ZRYIL (BlEY
7rIY)
2|14 —-70A0—-3—ITFI—1—XFIL—N 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
—[4— (RSMYILFFY) NVI)V]
ESV—IL—5-ALRFHIF (BE+
LIz VESK)
932—/7|:||:| 2" —IFIL—N= (2—x 0 1 1 0 0 0 0 1 1 2 0 0 0 2 0 3 3
ko —1-— ?)lxI?"}lx) -6 —XF
M7Eh7=) R (BIEXRS270—)1)
HEHFRE - SH03ERE




OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEVERIDEE (lLAE)

x1-2 #FEFER - 2¥EE
(4 / 14R—%)

HEmE REEEAR () HERER () BEER () R (ko/4F ;5 {449V 2B dng-TEQ/5F) BRI ko/TES SV
P -7
B T ToKiE Eﬁ%
WE I I = | a%m - - BEEY & - =
- YE L 2 K& nK | bL:hy 55 =5 = T bi::hy a5 &5
ES o | B® | 26 | x5 | 24 g | 2 + % % + | x= Pl % @17 t | 20 52 +
UloooxzFlLr (AIREILEEZI) 4 1 6 4 3 0 0 7 1 0 1 72200 2410 0 0 74610 99 0 99 74709
99 ODDE’EEQIJ—}[, 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
104 ODD*‘/“j}I,j'D)(&‘/ (,'E-',IJ%HC FC-— 5 1 6 5 0 0 0 5 1 0 1 20620 0 0 0 20620 6 0 6 20626
22)
106 OIIIEI |\ 1) 7)[,7_“]_‘]:&‘/ (3U%HC FC 1 1 1 1 0 0 0 1 1 0 1 15000 0 0 0 15000 3400 0 3400 18400
—133)
108 (RS) -2 - (4—7|:||:|—7_|'}[,|\—|\ 0 1 1 0 0 0 0 0 1 1 2 0 0 0 0 0 0 0 1 1
Ug?#v)fnﬁjyﬁ(%%x:fu
Y
113 2—7|:||:|—4, 6 —ER (Iﬂ'—}l/TE/ 3 0 70 0 3 0 0 3 0 0 0 0 1 0 0 1 0 0 0 1
) —1, 3, 5=NYTIY (BEITY
VXIECAT)
114 (RS) —2—[2— (3—7|:||:|71: 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

) —2, 3—IRF>IFOEIL] —2—
IFNMAVEY—=1, 3-IFY (Bl&A
V)TV

117l (RS) —1—=1">5—sO0Q7zxz=)l—4 1 1 1 0 1 0 0 1 1 0 1 0 0 0 0 0 880 0 880 880
, A= AFIN—-3— (1H=-1, 2, 4
—NYTYV=I=1—=AIAFIL) RVH
v—=3—F—)b (Bl&FT73F+J—I)

121115 —4so0m7x/—)b 1 1 1 0 1 0 0 1 1 0 1 0 75 0 0 75 850 0 850 925
12212 —soOo7 7O+ Vg 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
123|13—son7aRy (R&EETYIL) 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
12551y oaRvEy 1 2 3 1 1 0 0 2 2 0 2| 39000 940 0 0| 39940| 51700 0| 51700 91640
1277 oORiL L 7 7 8 7 1 0 0 8 7 0 7 10371 11000 0 0 21371 124122 0| 124122| 145493
128/ 0O x 4y (RILE{EXFIL) 3 1 4 3 0 0 0 3 1 0 1 14808 0 0 0 14808 7700 0 7700 22508
132(3/%L N RUZFDIEEY 1 9 15 0 1 0 0 1 9 0 9 0 0 0 0 0 6225 0 6225 6225
134|BEBR E =L 3 1 4 3 1 0 0 4 1 0 1 8163 7000 0 0 15163 1 0 1 15164
135|8EL 2 — XA REFVTFIL (MEGTFLVY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
JA—LVE/AFILI=FTITET—H)
136|141 FILT7ILFE R 1 0 1 1 0 0 0 1 0 0 0 1 0 0 0 1 0 0 0 1

HHEE : fSH03FE



OBELBIHERUVBHEONRILFMERIRFHER
e - BENSERIDEE (lLAE)

x®1-2 #ERRR - £XiE
(5 / 14R—%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
ity 7
B K& Eﬁ%
T K =K
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
s w | H o
14314, 4’ —YF7I /7= )VI—TI 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 610 0 610 610
1almss 7o et GEtErRoy T UBEE| 12| 3] 7 il of of 2| 3[ o 3 44 25 0 0 69| 2910 of 2910 2979
BR<. )
145(2 — (TFIVFTI)) T8 /)—) 0 2 3 0 0 0 0 0 2 0 2 0 0 0 0 0 6568 0 6568 6568
147N, N=SITFIFA AN VES —4 9 ol 70 0 9 0 0 9 0 0 0 0 5 0 0 5 0 0 0 5

—0aRvIIIL (BEFARVAILTX
WERVFAH—T)

148N, N—YTF)I—3— (2, 4, 6—F 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 8 0 8 8
UAFIN T T ZIVZANARZI) —1TH=1
, 2, 4—KNYTPYV—=Jb—1—HILIRFH
IR BIEHT7IZRMO—=))

1495 (b e s 5 2| 73 2 3 0 0 5 2 0 2 100 0 0 0 100 52000 o| 52000 52100
150|1, 4 —oFxHY 16 71 78 3l 15 0 of 18 7 0 7 6800 13470 0 o| 20270 135976 o 135976 156246
152|1, 3—UAINEAILFA—2— (N, 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 370 0 370 370
—IAFNTI/) Ty (BlEA
oy )
154 A~NFUIILT I Y 2 1 4 1 1 0 0 2 1 0 1 84 2 0 0 86 12 0 12 98
157|1, 2—vsopmTy Y 9 4 74 3 8 0 ol n 4 0 4] 30838 1706 0 o| 32544 111860 o 111860 144404
1581, 1—vsOoATFL Y (A&ElLE= 8 ol 7 1 7 0 0 8 0 0 0 52 1 0 0 53 0 0 0 53
Vs
189|v2—1, 2—-v4O00TFL Y 8 of 7 1 7 0 0 8 0 0 0 55 2 0 0 57 0 0 0 57
160(3, 3’ —voypR—4, 4 —-YF73) 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 469 0 469 469
VIIZIAY Y
16412, 2—200—1, 1, 1=kKY7J 1 0 1 1 0 0 0 1 0 0 0 1200 0 0 0 1200 0 0 0 1200
A0x%v (BILEHCFC—-123)
1683 — (3, 5— /’7|:||:|71_)|/) —N— 1 1 1 0 1 0 0 1 1 0 1 0 0 0 0 0 480 0 480 480
Av7aEi—2, 4-IFFV(3I45Y
DIV —1—-RIKREH IR (&1 70
oAV)
16913 — (3, 4—vsOA7zT=)) —1, 0 1 1 0 0 0 0 0 1 1 2 0 0 0 0 0 il 4 75 75
1—? FLRE (&S50 YREDC
MU

HHEE : fSH03FE



OBELBIHERUVBHEONRILFMERIRFHER

1. HEH - BESERI DKE (lLER)
®1-2 #MEFRH -  £2XE
(6 / 14R—2)
s&mE BEEEFH() B AR (1) BB (1) HEH R (ko/ 550" {142 4ng-TEQ/ %) BRI ko/TES SV
-7
T Tk AE
4] mE AT s [ mm [ op | xm | ok | m s | ent | 2= | Kk |en| s | B8P | 1w | mx | ax [EFZ| o | ewm
172|3— [1— (3, 5—<42O0A7z=)l) 0 1 1 0 0 0 0 0 1 1 0 0 0 1 0 1 1
—1=XFLTFN] -3, 4=-YERA
—6—AF)—5-Tx=J—2H—1,
3—AFHYIv-—a4—-Fv BEFTFHY
7OXHY)
174|3— (3, 4—->4O07zT=J) —1— 0 1 1 0 0 0 0 0 1 2 0 0 0 5 1 6 6
)()I\=\’—°/— T=XFIEER B&) =20
v
178|1, 2—vooo7FO/nsy 1 1 1 1 0 0 0 1 1 1 390 0 390 160000 0| 160000| 160390
1791, 3—vson7a~y (A&D—D) 3 of 70 0 3 0 0 3 0 0 0 0 0 0 0 0 0
BilyyoaNryEy 5 6 6 5 1 0 0 6 6 6 1690 360 2050| 45920 of 45920 47970
184]2, 6—vroORvyY=rYJ (BIES 0 1 1 0 0 0 0 0 1 2 0 0 0 21 3 24 24
I OR=JJLXIFDBN)
185l soaRvy 7407 0/8y (BI&H 0 1 1 0 0 0 0 0 1 1 0 0 0 1500 0 1500 1500
CFC—225)
186|700 X4d Y (BIEEIEXFLY) 19] 10| &2 M 8 0 o 19 10 10| 62725 2 62727 233321 0| 233321 296048
189IN, N=I>oOnEy)b—2-~VJF 0 2 2 0 0 0 0 0 2 2 0 0 0 3400 0 3400 3400
PY=WRWVITVT IR
10Uy oaRyyITy 2 0 2 2 0 0 0 2 0 0 221 0 221 0 0 0 221
19111, 3—UF45v—2—qYFrwOy 0 1 1 0 0 0 0 0 1 2 0 0 0 2 0 2 2
%§4v7n5»(%%4v7u%#5y
97| F 4 Y ABRO, O—U XFIL—S—1, 0 1 1 0 0 0 0 0 1 1 0 0 0 16 0 16 16
2—ER (ThFTHILKRZ)L) TFIL (
MERYSY VYRR SFA )
0y=—rO ML 1 0 1 1 1 0 0 2 0 0 21 120 141 0 0 0 141
201|2, 4—=rO7z/—J 2 1 2 0 2 0 0 2 1 1 0 140 140 110 0 110 250
| RYEY 1 0 2 1 0 0 0 1 0 0 13 0 13 0 0 0 13
23| 7 T LT IV 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2|7 = T—FI 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
205|1, 3—S T LTTF=UY 0 2 2 0 0 0 0 0 2 2 0 0 0 1660 0 1660 1660

HHEE : fSH03FE




OBELBIHERUVBHEONRILFMERIRFHER

e - BEDSERI DS (LOR)
%1 - 2 %B {‘ /\ é%*ﬁ
(7 / 14R—=%)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
Hek -7
B K& Eﬁ%
T K =K
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= wo| #E B
20712, 6——4—Sv ) —TFI—-4—-5 0 2 8 0 0 0 0 0 2 2 0 0 0 81 0 81 81
LY=L
208| 2, 4 ——H— v Y—TFI) T )— 0 1 1 0 0 0 0 0 1 1 0 0 0 170 0 170 170
)V
212 (RS) —O, S—~>><9’—)|/ TEFILKR 0 1 1 0 0 0 0 0 1 1 0 0 0 430 0 430 430
i¢w7$F%#;— (Bl&7E7xz—
213IN, N=UXFILTF7ERINT7IR 3 4 5 3 1 0 0 4 4 4 3804 91 3895 657000 0| 657000| 660895
2|6 = AF NI /)—1, 2, 3—KNYF 0 1 1 0 0 0 0 0 1 2 0 0 0 18 3 21 21
7y BIEFASISL)
28| AFTIY 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2| AF 2T 4R 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20| XA FILSFA AN VEED KBS 0 1 2 0 0 0 0 0 1 1 0 0 0 2300 0 2300 2300
21|12, 2= XAF)—2, 3=k RO-1 0 1 1 0 0 0 0 0 1 2 0 0 0 17 1 18 18
—RYYIZV—T—4)L=N- [N— (
2—IhEIHAIRZJIIFII) —N—A
VZOELRL TS EAIN] —N—XF
WANNT—F BIBENVTSHIT)
223IN, N=U X FILRFUILT IV 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
230|IN— (1, 3=IUXFITFI) =N — 1 3 4 1 0 1 0 2 3 3 0 0 0 14619 0 14619 14619
2= RS-7I LIV
22N, N=UAFIKRILLATIR 11 12 16 1 2 0 0 13 12 12| 133605 1807 135412| 961790 o 961790 1097202
234|BF= 3 1 5 3 0 0 0 3 1 1 702 0 702 750 0 750 1452
235|RFREL DIKAMEIR 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
237K RV F DAY 1 1 71 1 1 0 0 2 1 1 3 1 5 1700 0 1700 1705
238|kFELTI T I 0 1 2 0 0 0 0 0 1 1 0 0 0 16000 0 16000 16000
239|FHE 2 L&Y 0 3 4 0 0 0 0 0 3 3 0 0 0 5956 0 5956 5956
20| RFL v 15 7 16 14 2 0 0 16 7 7 40316 970 41287 45743 0 45743 87030
221z L Y RUFDIEEY 5 0 70 0 5 0 0 5 0 0 0 2 2 0 0 0 2
BEHREFE : SF03FEE




OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEVERIDEE (lLAE)

R1—-2 #HERFRR - 2%
(8 / 14rR—%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
ity 7
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % é ant | xm | AEP | zm | mx | e | 2R | TS| aw
B e
N S, %
23\ 1 A x> 5 69 30 79 44 35 0 0 79 30 2 32 11121.83? 2817. 692‘512 0 0 114@gé§§§ Hﬂgggggg 0.001826 110?]75222 2243%832%
24|2 —FA%XY—3, 5—UXFIFrSE 0 3 3 0 0 0 0 0 3 1 4 0 0 0 0 o] 21204 1| 21205 21205
RO—2H—-1, 3, 6=FF7I7IV (
MNETI Ay )
245|F A FR3%& 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
26| F A7/ —)L 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
248|F A4 Y AEEO, O—YITFI—0— (2 — 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 29 0 29 29
AVTAEL—6—XFI—4-E)IY
=) BIBRIATY I/ V)
BINFAYAEEO, O—IAFIL—0— (33— 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 190 0 190 190
AF)—4—-=—rO7z=)) (BI&E7x
= hOFFYISMEP)
57|FU T a—I (BIE&FH ) —I) 1 1 1 1 0 0 0 1 1 0 1 0 0 0 0 0 750 0 750 750
58[1, 3, 5, 7T—5FrST7HRrYSHO [ 0 2 3 0 0 0 0 0 2 0 2 0 0 0 0 0 750 0 750 750
3.3.1.1 (3, 1) IFHY (R%
ANEHXFLYTESIY)
297 RSTFILFHSLTSZILT 4 K (BIE 1 2 5 1 0 0 0 1 2 0 2 8 0 0 0 8 2345 0 2345 2353
J2NT A TL)
20| kS 0O04v IO rYIL (RIZY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 41 0 41 41
HO#O0=JLXiETPN)
%14, 5, 6, 7T—F 32004 YRYY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 450 0 450 450
i?y—1(3H)—#>(%%7ﬂ54
262|15- Mo OOxTFL YV 4 1 73 1 3 0 0 4 1 0 1 2400 0 0 0 2400 47 0 47 2447
266|2, 3, 5, 6—FhS7AO—4—% 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 32 0 32 32
FIRYIIIN= (Z) =3—- (2-200
-3, 3, 3-hNYZAO—-1-7OR
=) =2, 2=UXFNoaTOnRy
ANKRESS—b BIBETIIEY )
27|13, 7, 9, 13=FKS%AFI—5, 1 1 i 1 0 1 0 0 i 1 0 1 0 0 0 0 0 15 0 15 15
1—vF%%—-2, 8, 14— N)FT7—
4, 7, 9, 1 2—FrIT7HYRVETFTH
-3, 12-vIv=6, 10-Y%4>(
NEFATHIVT)

HHEE : fSH03FE



OBELBIHERUVBHEONRILFMERIRFHER

HEH - B ENSERIDERET (lLAE)
R1-2 HERERG - 2R7E
(9 / 14R—)
sEmE BEFLIE () T ) BB () HEHR (ko4 5" 41493 3ng-TEQ/ ) BHE e/ IR
B -7
B IS %§r
T K =1
g WHET s [ mm [ op | xm | ok | m s | ent | 2= | Kk |en| s | B8P | 1w | mx | ax [EFZ| o | ewm
= £/ B e
268|157 RS AFIFHISATZILT 14 K (3% 9 3l 715 1 8 0 0 9 3 0 3 3 2 0 0 5 712 0 712 717
FOSLREF L)
270(5 L 7 4 LB 0 2 5 0 0 0 0 0 2 0 2 0 0 0 0 0 1015 0 1015 1015
MF LIV AFIL 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 o 21000 ol 21000 21000
BRACAMEE (BEEARR< ., ) 22 6 80 of 2 0 of 22 6 0 6 0 787 0 0 787| 17116 of 17116] 17903
23|11 = RFH/ =)L (RE/IL<IL— KTy 0 1 4 0 0 0 0 0 1 0 1 0 0 0 0 0 34 0 34 34
VT —))
744 =2 v Y= RFHVFA—IL 3 1 3 3 0 0 0 3 1 0 1 194 0 0 0 194 86 0 86 280
15| RFULEEBEF N U ™ A 1 0 2 0 1 0 0 1 0 0 0 0 3100 0 0 3100 0 0 0 3100
276|3, 6, 9— NYFHHIVFTAY—1, 1 1 1 2 1 1 0 0 2 1 0 1 6 1700 0 0 1706 2 0 2 1708
1-73Y A&7 RSTFLYRYS
27| NYTFILT IV 3 7 8 3 0 0 0 3 7 0 7 669 0 0 0 669| 13909 o 13909| 14578
Bl FYTFLYF RS T Y 1 1 2 1 1 0 0 2 1 0 1 8 3900 0 0 3908 46 0 46 3954
2901, 1, 1—hysOoOzTédy 7 of n 1 6 0 0 7 0 0 0 490 3 0 0 493 0 0 0 493
280(1, 1, 2—rysOozsd> 6 1l 7 1 6 0 0 7 1 0 1 9500 601 0 o 10101 30000 o| 30000 40101
281lhysOoOTFLY 7 HIRE 4 3 0 0 7 2 0 2| 33340 0 0 o 33340| 92000 o 92000 125340
21[1, 3, 5—ryYZ (2, 3—THEFLTS 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 o 12000 o 12000 12000
aEN) =1, 3, 6= NYFPIV-2,
4, 6 (1H, 3H, 5H) —htUAY
22( ) TFATIY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 9400 0 9400 9400
2%B(1, 2, 4—FNUXFIRVEY 239 18] 257 239 1 0 o| 240 18 0 18| 60942 0 0 o| 60942| 17003 o| 17003 77945
297(1, 3, B=—RYAFIRVEY 85| 14| 168] 85 1 0 of 8| 14 of 14| 16349 0 0 o 16349 4356 0 4356| 20705
28| N LYSA YT R— R 3 4 5 3 0 1 0 4 4 0 4 13 0 0 0 13 71948 o 71948[ 71961
29NV Ty 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
300| M LT Y 299| 53] 302| 299 6 0 o| 305] 53 o| 53| 1058299 10496 0 o| 1068795( 1387749 o| 1387749 2456544
{pTvoTFY 1 1 2 1 0 0 0 1 1 0 1 3 0 0 0 3 44 0 44 47
32(FT7H L 5 3 9 5 0 0 0 5 3 0 3 346 0 0 0 346 3587 0 3587 3933
HEHHFE : fF03FERE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - BEVERIDSESET (lLAE)
R1-2 HEFRR - 238
(10 / 14R—2)
SELL BEFRAB () HELH 18 (1) ) YR (ko/4F ;5" (1493 dng-TEQ/ ) BRI ko/TES SV
Pt
B - a9
T Tk AE
g ME £ gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e
= m | & BH
304|8A 1 2 3 1 0 0 0 1 2 2 8 0 8 3000 0 3000 3008
305|881 &Y 10 9 81 1 10 0 0 1 9 9 6 143 149| 352012 0| 352012| 352161
307|ZigkER b IILa=Y A 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
308|1=v 7L 4 5 10 4 0 0 0 4 5 5 2 0 2 11643 0 11643 11645
09— T ILbEY 9 18 22 2 7 0 0 9 18 18 149 12022 1217 439336 0 439336 451507
MIRNS—=—bOoyvoaryEy 0 1 1 0 0 0 0 0 1 1 0 0 0 80 0 80 80
316[= rORvEY 0 1 1 0 0 0 0 0 1 1 0 0 0 9300 0 9300 9300
38| =R biRE 2 0 2 2 0 0 0 2 0 0 190370 0 190370 0 0 0 190370
21N+ LEEY 0 4 6 0 0 0 0 0 4 4 0 0 0 532133 0 532133 532133
3232, 4—FZR (TFILFI/)) —6—XF 0 1 1 0 0 0 0 0 1 2 0 0 0 8 2 10 10
WF4—=1, 3, 6=~ U7 (BIEY
XhYV)
325|lEz (8=%/U /5N 840 (RIZA%> 0 1 1 0 0 0 0 0 1 1 0 0 0 27 0 27 27
L L)
328|ER (N, N=IAFIVIFAHIL/INI Y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
B) #ih (BIBV S L)
39| 2 (N, N=SAFIUSFAAHILNIY 0 1 1 0 0 0 0 0 1 1 0 0 0 3 0 3 3
B) N, NN —IFLYER (FAAILN
;E4 VT A (BIRR)A—X—F
B[R (1 —AFI—1—TxxZI)ITFI) 1 0 1 0 1 0 0 1 0 0 0 12 12 0 0 0 12
=R FFTR
3R|WERVZ DEEESY 9 2| 73 1 8 0 0 9 2 2 5 7 12 1440 0 1440 1452
REX] [l N BBV 6 2 10 1 6 0 0 7 2 2 20 64 84 2401 0 2401 2485
336l FOF/ v 1 1 4 0 1 0 0 1 1 1 0 170 170 5600 0 5600 5770
RZUL |y B iy | ) 1 0 2 1 0 0 0 1 0 0 4 0 4 0 0 0 4
MRSV 2 2 2 2 1 0 0 3 2 2 34 350 384 41006 0 41006 41390
MlroaFa— RILAHFI—I) 1 1 1 0 1 0 0 1 1 1 0 6 6 97 0 97 103
MIIN—T7zxz=Z)LY LM IR 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BRHFE - SH0FEE




OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEVERIDEE (lLAE)

R1—-2 #HEFER - 2%5E
11/ 14R—=30)

HEmE REEEAR () HERER () BEER () R (ko/4F ;5 {449V 2B dng-TEQ/5F) BRI ko/TES SV
P -7
% - 25
T Tk &5
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= m| & BE
Ml =L VOTIY 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 4700 0 4700 4700
M9l —)b 8 9 13 8 4 0 0 12 9 0 9 2241 580 0 0 2821 1180433 0] 1180433 1183253
350 3—71/:\’—9/\‘“/*‘)‘)[,:3— (2, 2 — 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 24 0 24 24
JooOE=L) —2, 2=IAFITY
O7anRvALRFOS—F (BIERILA
b))
35111 , 33— 79 oIV 4 0 4 4 1 0 0 5 0 0 0 5263 1400 0 0 6663 0 0 0 6663
352 7’9)|/ﬁ§°)7|) L 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 19 0 19 19
353|7 9)[;@@*\/_‘]: FIL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1500 0 1500 1500
B4 THIIWEES — /LI —TFIL 1 1 3 1 0 0 0 1 1 0 1 3 0 0 0 3 1500 0 1500 1503
355|727 9)[;@@ B2 ( 2 —_‘j:a'—}[,/\:\:?/}[,) 2 5 6 2 0 1 0 3 5 0 5 18 0 0 0 19 9870 0 9870 9889
360N — [1 - (N-/}lz?}l/—j‘a'-}l/jj}l//\‘ 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 200 0 200 200

EAI)) —1TH=-2—RVYIALIFYYL
1 AIWNIVEEXTFIL (BIEN/ I)L)

61| TFI)= (R) —2—[4— (4—=>TF) 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 0 2 0 2 2
—2-7)WA07x/%Y) 7x/%Y]
?ijf—h(%%vﬂﬂ$w77%w

366|4—> vy —TFI=t ROJLFEF K 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

3|2 —9—2 v Y—FTFI—5— (4—%— 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 170 0 170 170
Sy ) =TFIRVIIIFF) —4—-20
0—3 (2H) —EYFY /Y (BlgEY

HFRY)

MIN— (=% Y=—TFI) —2—RVY 0 3 3 0 0 0 0 0 3 0 3 0 0 0 0 0 2290 0 2290 2290
FFP=INAIN T VTINR

374 /S\Dﬂf,ﬂ(%&U“% 0)7J<;?§'|‘§Eingn 55 8 90 1 47 0 0 58 8 0 8 1489 30632 0 0 32121 22704 0 22704 54825

SBIN—T FFIAFI—2—-20O00-2" , 0 1 1 0 0 0 0 0 1 1 2 0 0 0 0 0 1 0 2 2
6’ —VIFILTENTZURN (BIRTH
s a—JL)

378N, N’ —7FAOFELYER (¥FAHIIN 1 1 1 0 1 0 0 1 1 0 1 0 0 0 0 0 920 0 920 920
IVEE) CHMOEAY RlETOEXRT

~—

HHEE : fSH03FE



OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - RBEDERIDKE (lLAR)
xR1-2 #HEFRR - £2%E
(12 / 14R—=Y)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
ity 7
B K& @%
T Tk AE
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
s w | H o
3835 —7OE—3—tHYFY—TFIL—6 of il of of of of o 1 2 0 0 0 0 28 5 33 33
—XFL=1, 2, 3, A-FhZEFO
EVIvv—-2, 4—-o4v (Bl&70Ov%
L)
‘4|11 —7JoEFO/y 1 1 1 1 0 0 0 1 1 1 400 0 0 400 300 0 300 700
386|TOEXS Y (BZEXFI) 1 0 1 1 of o] o 1 0 of 4900 0 0 4900 0 0 0 4900
VANFHYAFLIIIOTIY 1 1 3 1 0 0 0 1 1 1 640 0 0 640 180 0 180 820
WA xFLY=U4Y S TR— R 1 1 3 1 0 0 0 1 1 1 490 0 0 90| 80000 ol soo00| 80490
3921/ )= Ib—~FH > 225 12 227 225 1 0 0 226 12 12 288064 3 0 288067 484793 0 484793 772860
IVBIRYFT h—IL 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
35|~ LA % Y R D AKCAMEE 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
00|RV Y 223 2 287 218 8 0 0 226 2 2 23970 3344 0 27314 4100 0 4100 31414
01|11, 2, 4—~RYEBYNYAILKRVEET, 0 2 3 0 0 0 0 0 2 2 0 0 0 0 316 0 316 316
2 —fRKY
405((% S %{bﬁ% 45 12 87 2 45 0 0 47 11 13 84 24417 0 24500 19948 266 20215 44715
406K ) EILET =)L (BI&PCB) 0 o 70 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
WY (FFVITFLY) =FPLFILT—F 6 71 s 1 6 0 0 7 6 7 1| 24834 0 24835 937 5 aaz| 25776
W (PILFIVEDRFREN 1 20515 &
TOLDORVZDEENICRS., )
408Ky (AFLTFLY) =49 FILTT= 0 1 2 0 0 0 0 0 1 1 0 0 0 0 5 0 5 5
LI—F)
409Ky (FFLITFLY) =RFULTI—F 2 2 3 0 2 0 0 2 2 2 o] 12066 0 12066] 8600 0 8600| 20666
WIRERT R TIVF )9 A
solFy) (AxvTFLY) =/=T7T=)L 2 4 7 0 2 0 0 2 3 4 0 330 0 330 386 4 390 720
T-F)
MK LTILFE R ] u| 7l 10 2 0 ol 12| 12 2034 650 0 2684 26389 92| 2641 29165
42| Y HY RUVZDILEY [ 23[ 99 71 28 1 o] 36 23 23 271 9377 40 9687| 1325437 o| 1325437 1335124
13|mAk T & ILER 1 4 4 1 0 0 0 1 4 4 1 0 0 1 359 0 359 359
salmEk<w L4 VEE 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

HHEE : fSH03FE




OBELBIHERUVBHEONRILFMERIRFHER
e - BENSERIDEE (lLAE)

®1—2 IEERFRR - 2%7E
(13 / 14 —3)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
it
E| T K 2
7 9a
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
s m | W BD
MNBIAXH ) )[,ﬁ&“‘ 7 4 7 5 2 0 0 7 4 0 4 1544 6770 0 0 8314 4613 0 4613 12927
M6[Xx 5L Y LB 2 —TFILAEII 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 68 0 68 68
M7x sy LEE2, 3—THEFLTFOPIL 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
9| XHH Y LB LTI —TFI 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
420X 52 ) JLEE X FIL 6 5 8 6 0 0 0 6 5 0 5 3093 0 0 0 3093 3756 0 3756 6849
22| (Z) —=2' —XFLTFERNTIT/ V=4 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 120 0 120 120
, 6—UXFIL-2-EUITILERS
V¥ BBz LVY)
A3 AFIVT IV 2 3 3 2 0 0 0 2 3 0 3 200 0 0 0 200 1944 0 1944 2144
428[N—XFIAINI VB2 —tEHY S — 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 69 0 69 69
TFN7z= (&7 T/ THNTRIE
BPMC)
29| x F)=3—4O00—5— (4, 6 - % 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 53 0 53 53
hES—2-EUIY=LANNREASILR
LI7EAN) =1 =XFIEST—I—
4—ANRFYS—b (BIENBRILT0
YA FI)
BilxFr= (E) —2- {2—-[6- (2— 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 170 0 170 170
YFI)I7T/FY) EYIVU—4—1)
FZH*2] 7=} =3 =X KEPTFTIY
S—b BIHT7ZVFLREOEY)
BB 7T 7 —AFILRFL Y 4 2 5 4 0 0 0 4 2 0 2 375 0 0 0 375 99 0 99 474
4BIXAFIFT7H9 LV 45 3 53 45 0 0 0 45 3 0 3 2468 0 0 0 2468 3901 0 3901 6369
(1 —XxFJ—1—TJx-JLTF)=t KO 1 1 3 0 1 0 0 1 1 0 1 0 52 0 0 52[ 54000 ol s54000] 54052
RIAFTR
a2 — (1 =XFLFOFL) —4, 6—3 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
g = A )
444X F)= (E) —ARFI43I/— (2— 1 1 1 0 1 0 0 1 1 0 1 0 0 0 0 0 320 0 320 320
{[ ({((E) =1—1[3— (hyTLH
XFI) Zz=N] TFUTVY TR
)1#>]x%)}71:w)7t9—h
BlEtYonEy2b0EY)

HHEE : fSH03FE



OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - RBEDERIDKE (lLAR)
xR1-2 #HEFRR - £2%E
(14 / 14R=2)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
ity 7
B K& Eﬂ%
T Tk AE
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
s w | H o
446[4, 47 —XFL I 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 4500 0 4500 4500
MIXFLYER (4, 1—0O0~FD LY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
) SoAvi TR
WBIAFLVYER (4, 1—7zx=ZLY) =Y 1 4 8 1 0 0 0 1 4 0 4 17 0 0 17| 340923 0| 340923| 340940
AYSTER=b
550(N= (=X hrE>—2—FYTJ) —N 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 6 0 6 6
—XFIFFHLNIVEEO -3 =89-3
11)') —7FILT7z= GIREYY TFANL
7
452(2 — X AT RRYVIFTYI—)L 2 3 4 2 0 1 0 3 3 0 3 17 0 0 17 288 0 288 305
s3lE ) TRV ROZDIEEY 3 6 9 3 0 0 0 3 6 0 6 6 0 0 6] 19795 ol 19795 19801
5|2 LRy~ 1 1 3 0 1 0 0 1 1 0 1 0 1100 0 1100 0 0 0 1100
a8y AR YR (2—TFIAETI) 0 2 2 0 0 0 0 0 2 0 2 0 0 0 o] 17700 o 17700 17700
55t 2349 691 4741 1915 512 5 0 2432 686 24 710| 3063531 311811 4 3375383 15556524 443| 15556967| 18932350

HHEE : fSH03FE




